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Instructions to the Candidates :

1. 9l SR 9Fe WR (Ul U YRAET HAHIG (10 3Dl BI) Jad ford |
Candidate must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

2. Uil JUrYT U el § & SR < |
Candidates are required to give answers in their own words as far

as practicable.

3. QI SR BN R A gU e qurie fHfdse &vd 2 |

Figures in the right hand margin indicate full marks.

4. UHl P AFYAD Y b fo1g el &1 15 fAee &1 ifaRad wHa
o= T 2 |

15 minutes extra time has been allotted to the candidates to read

the questions carefully.



g Ue YRAHT & @usi H & — WUs—3 Ud WUs—d |

This question booklet is divided into two sections — Section-A and
Secrion-B.

Gus—3 H 70 GRS YA ©, O 9§ Bl 35 UeAl & IR oAl
AR 21 35 ULl W IMAH BT SR IH W U 35 BT T HeADA
BN Ud & oy 1 3fd FEiRT &1 S9d1 SR o & fog Sude
U T OMR STR-936% # fau U 981 fddwed ®I el /BTl dfct UF
A We B | &l W1 UR & gReR / R UG / s / ARG
e &1 OMR STR-UF® H YANT HAT AT &, AIAT URVM MY
BT |

In Section-A, there are 70 objective type questions, out of which

only 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. For answering these darken the circle with blue /
black ball pen against the correct option on OMR Answer Sheet
provided to you. Do not use whitener / liquid / blade / nail etc. on

OMR Answer sheet, otherwise the result will be treated invalid.

Gus—g ¥ 20 Y NI U © | UAB & oY 2 3w FiRa 7, [
A Bl 10 Tl & IR 7 At B | gAa SrfaRad s wWue H 6
< S v A W e & forg 5 ofe fuiRa g R |
gl 3 UeAl BT IR <A1 AfYard 7|

In Section-B, there are 20 short answer type questions, each
carrying 2 marks, out of which only 10 questions are to be

answered. Apart from this, there are 6 long answer type questions,



each carrying 5 marks; out of which any 3 questions are to be

answered.

Pl TR & Seldgi-id IUDHRYT HI YART oidam afid 3 |

Use of any electronic appliances is strictly prohibited.



s — 3 / Section - A
g&g~s ue / Objective Type Qestions

Ue WEIT 1 W 70 9% @ UAd U @ 9 IR fAdew Ry v E RE | e
HE B | 3109 gRT g9 Y e fadwey oI OMR 3fic wR faffed &% | ol 35 yef
H IR G | 35x1=35
Question no.s 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option on the OMR sheet. Answer any 35

questions. 35x1=35
1. golggid & fafdre e 8 2,
(A) 1.8 x 10" C/kg (B) 1.67 x 107"° C/kg
(C) 1.8 x 10" C/kg (D) 6.67 x 10" C/kg
The specific charge of electron is
(A) 1.8 x 10 Cl/kg (B) 1.67 x 10™"° C/kg
(C) 1.8 x 10" C/kg (D) 6.67 x 10" C/kg
2. fagra & # D f3g@ & gom w fhar T ord
(A) W = ME (1 —sinf) (B) W = ME(1 — cosf)
(C) W = MEtan6 (D) W = MECot6
The work done in rotating a Dipole in an electric field is
(A) W = ME (1 — sin6) (B) W = ME(1 — cosf)

(C) W = MEtané (D) W = MECot6#



forefl ATTw BT SMufere WA (€,) BN ¥,
(A) €+ & (B)e-¢€,
(O (D) € x &
The relative Permittivity of any medium is
(A) €+ & (B)€-€
(O (D) € x &

GoRal & gaHiar Ao # 1 IR gde guilRa & o wqEE ' d 2

I8 B
(A) M9 (B) ol
(C) fawaicR (D) enRRar

The quantity, which is same for each condenser in parallel
combination of condenser is

(A) Charge (B) Energy

(C) potential difference (D) Capacity

Uh dR & YR R 2| 39 Hige) 9 3l dR &A1 S df IR &l
gfeRIe 8T

(A) 2R (B) 4R

(C) 8R (D) 16R



The resistance of a wire is R. If diameter of the wire is halved by
stretching it, then the resistance of the wire will become.

(A) 2R (B) 4R

(C) 8R (D) 16 R

g H T M dleld &7 9TRAT FAMUR 8kl & el &

(A) 5T & (B) i &

(C) smaaT & (D) &g &=l B

The capacitance of a spherical conductor placed in air is proportional

to
(A) mass of sphere (B) radius of sphere
(C) volume of sphere (D) surface area of sphere

fe TAwT fagd e x—3teT & faen # g ar wAfawdr g

(A) X-Y aa ¥ (B) X-Z Tt #

(C)Y-Zad # (D) T8 ¥ Big el

If uniform electric field is along the direction of x-axis, then

equipotential surface will be

(A) On X-Y plane (B) on X-Z plane
(C) On Y-Z plane (D) None of these
faegerefierar &1 7= e g,

(A) C°N'm™ (B) CN°m™



10.

11.

(C) CN'm™ (D) CNm™

Unit of permittivity is

(A) C°N'm™ (B) CN°m™

(C) CN''m™ (D) CNm™

e 9g &1 IR &1 Bl 2

(A) TSl B (B) ©d &1

(C) HIf @1 (D) &= &t

The wire of meter-Bridge is made up of

(A) Copper (B) Steel

(C) maganin (D) Iron

GIBII ORUT B oI gacbel bl faar M & g Gee 2 |

(A) B =4nM (B) B =4n(H + M)

(C) B = 4n(H — M) (D) B =y (H + M)

The relation between magnetic induction B and intensity of
magnetisation Mis

(A) B =4nM (B) B =4n(H + M)

(C) B = 4n(H — M) (D) B = py (H+ M)

&1 WHMIARY UV & g X1 g U 9 DI Uidf&d b1 dedm gl

(A) 1 (B) 2



(C)3 (D) i (c0)

The number of images of an object placed between two parallel

mirror is
(A)1 (B) 2
(C)3 (D) infinity (oo)

fB el YT T UTead ST ‘m’ B Al asd e 81T

(A) m (B) m?

(C)m’ (D) m*

If the lateral magnification of a spherical mirror is ‘m’, then the
longitudinal magnification will be

(A) m (B) m?

(C) m? (D) m*

R AT PR &1 el a1 Aegdl | aRiesd A, Q9T A, 8 df &d Bl
[GREE

(A) L =22 (B) L =4
sinr A4 sinr A,
(C) sini _ A1+4, (D) sini _ A1—4,

sinr  A1—4, sinr  A1+4,

If the wavelength of a light in two medium are A, and A, respectively,

then Snell’s law will be

sini _ Q sini — ﬁ
(A) sinr A (B) sinr A,




( ) sini = 11+/12 ( ) sini _ 11—/12

sinr  A1—4, sinr  A1+4,

fPd SR A I BT IgelT U=l § THbT 7,
(A) TRTeT G)ELESE

(C) ol anaRe wRra<i (D) faa<™
The air bubble inside water shines due to
(A) Reflection (B) Refraction

(C) Total internal reflection (D) Diffraction

Sl Il ol IRER HUSD H B | FAGed o BT

(A) stadct (B) ST

(C) FHTATadet (D) AHdASTTA

Two Convex lenses are combined in contact. The equivalent lens is
(A) Concave (B) Convex

(C) planoconcave (D) planoconvex

9 PIg Tdd YBTer (HRo7 fhdl fUoH & [oRdl 2 ar e 1 & fory e

PV BT A A IfF BIar § —

(A) efret (B) ST

(C) e (D) =R

When a white light passes through a prism for which colour, the angle

of deviation for a prism is maximum



17.

18.

19.

(A) Red (B) Violet
(C) Yellow (D) Orange
R 351 arerr et iRy & arRkar grft

_ 1 Q _ 1 R
A)C=rs B C=7c0
_ 1 @ _ 1 Q
CC=re® BC=re=

Capacitance of a spherical conductor of radius R will be

_ 1 Q _ 1 R
A C=a B)C=ra 2
_ 1 @ _ 1 Q
C)C=ra® B)C=ra 7

faerd—fega & @ror sl qen frefa Rerfast # fagd e @ faar &

3IUT &Il 2 |
(A) 1:2 (B) 2:1
(C)2:3 (D) 3:2

The ratio of electric field intensity due to electric-dipole in axial

position and equatorial position is

(A) 1:2 (B) 2:1
(C)2:3 (D) 3:2
3T YAFIART # &7 I ®

(A) 3maer (B) St

10



20.

21.

(C) s (D) & & DIk Tel

In redistribution of charges, there is lose of

(A) Charge (B) Energy

(C) Mass (D) None of these

T UfeREdarel ‘n’ gfoRier &1 sofieed 9 FHEiaR. A Gao | U

AAGed UfCRIEN BT ST<urd 81T 2 |

(A) n (B) n?

(C)n’ (D) n*

‘n’ resisters of equal resistance are connected in series and parallel
then the ratio of equivalent resistance is

(A)n (B) n*

(C)n’ (D) n*

Si9 e fagd—feygd d< Ads A fORT g € A1 < |as R fAgd gaes
HT A9 BRM

(A) I (B)
© 2 (D) s & B¢ &

When an electric dipole is inside a close surface then the electric flux

on the surface will be

(A) Zero (B) Ei

11



(C) z—" (D) None of these

22, Cuic AdAMIeR JAfdhad GUTel 8idl 8, 5 [deld BIor Bial ©
(A)0° (B) /4
(C)™/3 ®) /2

Tangent galvanometer is maximum sensitive, when its deflection

angle is
(A) 0° (B) /4
©)7/3 D)/,

23.  TIH HSell &I AT I0MH BNl 2 |
(A)O (B) 1

(C) -1 (D) -

2

The power factor of choke coil is
(A)O (B) 1

(C) -1 (D) >

2

24, FHM 9T W FoAdl AT Ieq~T BT B,

(A) faregerr & (B) graebIa &
(C) fagg gamra & (D) 79 | BIg 7Tl

12



25.

26.

27.

A charge moving with uniform velocity produces
(A) Electric field (B) magnetic field

(C) electro-magnetic field (D) None of these

TP FHIEI—TCRIY & A BR R 997 v FAgoll 2 | SAGT AW BRfY
(A) 5% (B) 10%

(C) 20% (D) 15%

The last band on the ends of carbon resistor is golden. The

tolerance will be

(A) 5% (B) 10%

(C) 20% (D) 15%

WIS Fdie a1 9@ g,

(A) Hrel et (B) Ferv wret "
(C) fpoar e (D) agerea—faur !

Unit of Faradey-Constant is

(A) mole C™’ (B) Colomb mole™
(C)kg C” (D) Ckg™
vifdaRfed R &1 alRuer g

(A) IE TR (B) g€ enRe

13



28.

29.

(C) g& R+ (D) (A) T (B) <4

Circuit of wattless current will be

(A) pure resistive (B) pure inductive

(C) pure capacitive (D) Both Aand B

e TR a1 H [9Edi a9 Ud g3 TR @ d91d BT hel<R sl
g

(A) 0° (B)
C)m (D) 2n
The phase difference between electric waves and magnetic

wave in an electromagnetic wave is
(A)0° ()
C)m (D) 2

I FAF BIhd O f & 31 o9 U H §HE YU 3feT IR I Yl

TG Bihd W B

(A) f (B) 2f

()L (D)L

2

14



30.

31.

If two lenses of same focal length f placed in contact on the

same principal axis will be

(A) f (B) 2f

(€)% (D)

2

TP ST oI BT IURT AT I BT Blell B AT AT & | ISP AT T

w [~

GRS G NIEESH
(A) BT JMBR G (B) MTHR ©T
(C) e =eift (D) et g i

The upper half of a Convex lens is painted black. The image
of an object place in front of it will

(A) increases in size (B) reduces in size

(C) reduces in intensity (D) Increases in intensity

M A9 it & fog e gfie &7 =g=aw 8 8t 2|

(A) 30 cm (B) 40 cm

(C) 25 cm (D) 50 cm

The least distance of distinct vision for a normal eye is

(A) 30 cm (B) 40 cm

(C) 25 cm (D) 50 cm

15



32.  INIT BIeT $olde™ & SHoll ¥R Bl 2 |
(A) BT B T W (B) UebTer &I flaem U
(C) u1g & HRI%T R (D) T & P 21
The energy of emitted photoelectron depends upon
(A) Wavelength of light (B) Intensity of light

(C) Work-function of metal (D) None of these

33, Qa—P 2|

(A) Sifcram ifve (B) =gfererait
(C) g gaarar a (D) geiag
a-particle is a

(A) helium nucleus (B) nucleon
(C) electromagnetic wave (D) electron

34. cifvex # P-N Soem &) S gt &
(A) 1 (B) 2
(C)s (D) 2 a1 a1 ¥ 3®
The number of P-N junctions in a transistor is
(A) 1 (B) 2

(C)3 (D) 2 or more than 2

16



35.

36.

37.

CIRER @ oRT T[UNd @@ qAT [ BT A4 ©

__B
(A)a_ﬁ+1

_ B
C)a=5=
The

transistor is

(A) a =2

+1

=

(C)a=5

a<l grRT UHIeR ¥

(A) aRT o fagr

(C) ufeRIer o fderg

In hot wire ammeter

(A) Currentx deflection

(C) Resistance « deflection
L-R uRRuer &1 wifaq qonies gram @

(A) R + WL

R
C) v

17

relationship between current factors aand [ of

(B) &Rt o (faver)®

(D) ufeRrer o (fae)?

(B) Current « (deflection)?

(D) Resistance « (deflection)?

(B) RVR2 + W2]2

(D) ==

R



38.

39.

Power factor of L-R circuit is

(A)R + WL (B) RVRZ + W22
R WL
©) e (B) %

frferRaa # fraeT qu gaar sifieaw gl © 2

(A) a —fxot (B) X —fawoi

(C) derrs—fai (D) y—faol

Which of the following has maximum penetrating power ?
(A) a —rays (B) X —rays

(C) Cathod rays (D) y-rays

SIAN | A Ter AW & BT R @ d9 &1 99 ®

(A)R a A (B)R a A

(C)R q A3 (D)R a A2

The relation between mass number A and radius of nucleus
Ris

(A)R a A (B)R a A

(C)R a A (D)R a A2

18



40. I @ Ho B HRI 7§
(A) T fagves (B) @RI <Heras
(C) AT BT STerT (D) 378 ¥ PIg &
The reason of energy from the sun is

(A) nuclear fission (B) nuclear fusion

(C) burning of gases (D) None of these

41. 1 fHATIM AT & e Sofl o B § |
(A) 10" St (B) 10" St
(C) 10" e (D) 10 e
The equivalent energy of 1 kg mass is nearly equal to
(A) 10" joule (B) 10" joule
(C) 10" joule (D) 10% joule
42. U9 I IS B
(A) SR TIITS (B) TeTgEl
(C) wicIers (D) (A) TeI (C) g
Reverse biased diode is

(A) Zener diode (B) LED

(C) Photodiode (D) (A) and (C) Both

19



43.  NAND e fou gferme @9i& &

(A)A.B=Y (BYA+B=Y
(C)AB=Y (D)A+B=Y
Boolean expression for NAND gate is
(A)A.B=Y BYA+B=Y
(C)AB=Y (D)A+B=Y
44,  AMG 93 BT IS e, B g
(A) 1 %0 (B) 60 W0
(C) 30 %0 (D) 45 0
The resolving power of a human eye is
(A) 1 sec (B) 60 sec
(C) 30 sec (D) 45 sec
45. AT SIffhAT H wRigT IRAT © |
(A) st (B) 1o s
(C) XRgep Ha (D) SR AT
The quantities, which remain conserved in a nuclear reaction
is
(A) Charge (B) angular momentum

20



(C) linear momentum (D) All of the above

46. f=faRad o faer smuaxi=ie Tew 3ifde 8N
(A) ofa (B) T
(C) & (D) 3rceblge

Which one of the following will have maximum refractive

index
(A) glass (B) water
(C) diamond (D) alcohol

47.  TI YBI AId Gag BIAT ©, S IAd a1 B HAR
(A) frad ver 8 (B) 9aelcl Y&l 8
(C) frafaa uRad= @xar & (D) amactt aRad= ®=ar &
Two sources of light are coherent if their phase difference

(A) remains constant (B) changes

(C) varies regularly (D) varies periodically

48. Y HRA UR IffATAB! BT YR
(A) Tredr & (B) 93T &

(C) sraRafkia &dr g | (D) ugel 9@ © R Tedl T |

21



On heating, resistance of semiconductors
(A) decreases

(B) increases

(C) remains same

(D) first increases then decreases
49. faggd Jaarag WRr # URAT omaer wWdF BiaT ©
(A) ¥Te & TRac A (B) ¥Ha ¥
(C) el & wferer & (D) s & &g =&
In electromagnetic induction, the induced charge is
independent of
(A) change of flux (B) time
(C) resistance of the caoill (D) None of these
50. WIS &I fAg]d gaaia URT &1 a9 e HReor &1 gRum 2 |
(A) 3maer (B) St
(C) gao1a &= (D) (B) T2 (C) =i
Faraday’s laws of electromagnetic induction are
consequence of the conservation of

(A) Charge (B) energy

22



(C) magnetic field (D) both (B) and (C)
51. WM &I fIRM g &

(A) I (B) 3rid

(C) 9.1x10™" freirm (D) 1.6x10™%" fpetrm

The rest mass of Proton is —

(A) zero (B) infinity

(C) 9.1x10™" kg (D) 1.6x10™" kg

52. 4 SHICR &Adl & ol & Hidd g0 a1 gFfT 2
(A) 0.25 Hex (B) 0.25 I<rHIex
(C) 0.35 Hicx (D) 0.35 HTHIER
What will be the focal length of a lens of 4 dioptre power ?

(A) 0.25 m (B) 0.25 cm

(C)0.35m (D) 0.35 cm

53. SATAM FHARITSH H U ARl GeAall &I A &adl sl ©

D
(A) (1+7) (B)

| O

(C) (144 (D)%

For normal adjustment, the magnifying power of a simple

microscope is

23



D D
(A) (1+42) (B)>
f f
©) (1+4) 0]
54. AR & HAR UHT BT S HEAT &
(A) faHRor (B) farad=
(C) wRracH (D) 3rya<iA

Bending of light at the corner of an obstacle is called
(A) interference (B) diffraction
(C) reflection (D) refraction
55. BRT & forg wifds dior 2rar 2 |
(A) 24.41° (B) 37.31°
(C) 48.75° (D) 41.14°
Critical angle for diamond is —
(A) 24.41° (B) 37.31°

(C) 48.75° (D) 41.14°

56. @i & FHMIAR Fdg $I U] & BIhd W BT & |

(A) @ (B) e
(C) 10 &I (D) 100 ¥

24



57.

58.

59.

Focal length of parallel sided glass slab is
(A) zero (B) infinite

(C) 10 cm (D) 100 cm

gl USH gRT <gAaH a9l BT &SI 8IdT ©
(A) (1- A (B) (1 -A)u
(C) (u—-1A (D) (A-"1u

The Angle of minimum deviation for a thin prism is

(A) (1- A (B) (1 —Au

(C) (k—-"1A (D) (A="1u
REATHS ATDIIN b T Bellar BIel & |

(A) @ = 2nm (B) ¢ = (2n+1)m
(C)o =nm (D) ¢ = (n+1)m

Phase difference for constructive interference is
(A) ¢ =2nm (B) ¢ = (2n+1)m
(C)op=nm (D) ¢ = (n+1)m
UHTT & UH BISH B Soll B I Bl §

(A) 1ev — 2ev (B) 1.6ev — 3.2 ev

(C)2.6ev—-4.8ev (D) 1.8 ev—6 ev

25



60.

61.

The range of energy of a photon of light is
(A) 1ev — 2ev (B) 1.6ev — 3.2 ev

(C)2.6ev—-4.8ev (D) 1.8 ev—-06ev

fforRaa § o9 A geHT UBRT & HUT Yafd B ysRid & g ?

(A) afevor (B) YeTe—faee wTa

(C) YT &1 gaur (D) ®ATS o BT Mher

Which one of the following phenomenon supports the
particle nature of light ?

(A) Interference (B) Photoelectric effect

(C) Polarisation of light (D) emission of cathode rays
= § -\ ST faefdl U9 g &F U 9T U & 999 8d W)
3R 9T S FHT 7 ?

(A) SelagT (B) wicta

(C) wretT (D) 3 )

Which of the following can move with constant velocity in the
combined electric and magnetic field at the same time

(A) electron (B) proton

(C) photon (D) All of these

26



62.

63.

64.

gltcafcalely i

(A) S (B) aR
(C) XIS (D) dider
Nucleus was discovered by

(A) Thomson (B) Bhor

(C) Rhutherford (D) Powell

Solag™, UIe Td = @ fofg & i i 99 &

(A) ST (B) amaer

(C) Sa (D) it

Which one of the following quantity has the same value for
electron, proton and neutron

(A) mass (B) charge

(C) momentum (D) energy

U gagdl gRT &1 FHeRer [=50sin1007t & dr fag@a arT @1 gy
BT

(A) S0 (B) 100

(C)25m (D) 75w

27



65.

66.

The equation of an alternating current is represented by

|I=50sin1007t. The frequency of a.c. will be
(A) S0 (B) 100
(C)25m (D) 75
SHEH BT §€ ARl ev # 7

(A) 1.1 ev (B)1.2 ev
(C)0.7 ev (D) 7= ev
The band gap in germanium is

(A) 1.1 ev (B) 1.2 ev

(C)0.7 ev (D) zero ev

IS fHdT a1 &1 BRI%BAT 2.8 €V © Al agall diT <& BT
(A) 4000 A (B) 5000 A

(C) 4433 A (D) 3344 A

If work function of any metal is 2.8 ev, then its threshold

wavelength will be
(A) 4000 A (B) 5000 A

(C) 4433 A (D) 3344 A

28



67.

68.

69.

70.

CIABIER & IS Pl WRAGR b foly v@m Sirdr € 2

(A) ol &0 &H IR B ford (B) AT &9 &H &A1 & ford
(C) I &7 HH B & ford (D) 37 A Pig =81

Why is the core of the transformer is Laminated ?

(A) to reduce energy loss (B) to reduce mass loss
(C) to reduce charge loss (D) None of these

ISR fohar & forg armgeas ¢ |

(A) S=a Y (B) oTg dTeId

(C) S=a <19 (D) we=r aRacd=

LASER action needs
(A) High temperature (B) Semiconductor

(C) High pressure (D) Population inversion

fHefl o1 Aot &1 YA IO &7 A9 BIaT ©

(A) g-THD G ERURED

(C) 1= (D) 3=

The temperature Coefficient of semiconductor is

(A) positive (B) Negative

(C) Zero (D) infinite

U AT Ufded @ @l TG 1600 dY 7 | 3HDI ARY Mg BRAY ?
(A) 2309 TY (B) 1109 a9

29



(C) 2400 ¥ (D) 3200 @Y

Half life period of a radioactive element is 1600 years. Its average

age will be
(A) 2309 years (B) 1109 years
(C) 2400 years (D) 3200 years

Yus—9 ,/ Section-B

g I 929/ Short Answer Type Questions.

U AT 1 9§ 20 Y SR U B | Bl 10 UF & SR & | AP b oY 2
i FEiRa 2 | 2x10=20
Question Nos 1 to 20 are short Answer Type. Answer any 10 questions.
Each question carries 2 marks. 2x10=20
1. g ygurar den faggd & @ digdm | ey oy | fag—yaurdr &
S.I.q=® T 7 ? 2
Write down the relationship between potential gradient and

intensity of electric field. What is the S.I. unit of potential gradient?

2. 6uF aRar & FarRa &1 favarR 10 dlee | 20 dlee B od TR SAD!
Sl H g5 glg @I T HIFTY | 1+1=2
Calculate the increase in energy of a 6uF condenser by changing

its potential difference from 10 volt to 20 volt.
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10.

11.

Jad Soldgl & 3Uars o dAT dgfd ORI &cd § &I Fae § 7 2
What is the relationship between drift velocity of free electrons and
electric current density ?

A & fIgfd ared 9ot T e fawarR # iR W By | 2
Differentiate between electromotive force (e.m.f.) and terminal
potential difference of a cell.

FIFT & 9 81T &l 199 9argy | 2
Write down Fleming’s left hand rule.

UH BT H SHoliel &I AMifhd BN | 2
Name the energy losses in a transformer.

gedl & FREHT dd Bl ford | 2
Write down the magnetic elements of the earth.

TR =\ @ g ? 2

What is Curie Law ?

ToIieR AT HeAlaR H 4T Fawel g ? 2
What is the relation between path difference and phase

difference?

RN fava @1 afRvmer < 2
Define stopping potential.
AISHIId & & IUANT Fay | 2

Write down two uses of microwaves.
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12.

13.

14.

15.

16.

17.

18.

19.

20.

250A° TR grelT Bt @Y Holl Dl T B | 2

Calculate the energy of a photon of wavelength 250A°.
HTRA & el &l IuINT Bl ford | 2

Write any two uses of capacitor.

fIed graag a3 @1 &l &g faewar ford | 2
State two main properties of electromagnetic wave.
Hifd PIvT JAT FAV—DIVT & 41 & HAad DI ford | 2

Write down relation between critical angle and polarising angle.
T faga meol & gR|T Jor S.|. A o | 2
Write down definition and S.I. unit of magnetic dipole.

feaar®r IR el hRrs &1 W ford | 2

Write down faraday’s law of electromagnetic induction.

JImEd] gRI-URYY H Bl deel & URor uferd & forg g3 fordiv |

T IE ORT D A R iR dedr 27 14+1=2

Write down formula of inductive reactance of any coil in a.c. circuit.

Does it depend upon the magnitude of the current ?
s gorr faAre AfaeNer § 3R W HIfTT | 2
Differentiate between constructive and destructive interference.

B SISO TRAT] & oIy IR &1 I RSB oIy | 2

Write down two hypothesis given by Bohr for hydrogen atom.
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<" IR U/ Long Answer Type Questions.

o GRIT 21 9 26 <1 IR YT | fh=l 3 Ul & SR < | U & folv 5

3 fAgiRa g1 3x5=15

Question Nos 21 to 26 are short Answer Type. Answer any 3 questions.

Each question carries 5 marks. 3x5=15

21.

22.

23.

24.

g o & ? S99 ST A UHauil YHrRT &1 avesd (1) o9
Tt ST &, FHSI | 5

What is a biprism? Explain the measurement of wavelength of a

monochromatic light using biprism.

AT o BT | Th g ¥ d W W T Udd ol @ folg

AHded WIhd X & g IIfUd o | 5

What is equivalent lens ? Establish the formula for equivalent focal

length of two thin lenses separated by a distance ‘d’

TAURGT UG AT UROT BT GRAINT &3 | T ofFl gameia aRAarferaan

BT AT URpd BT ol (TRl | 5

Define self inductance and mutual inductance. Find an expression

for mutual inductance of two co-axial solenoid.
Agdlled & Igid Td BRI YOl & Al aufF &Y | Agdalie
AT & oIy &STd U Y | 5
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25.

26.

Explain the principle and working of cyclotron with the help of a
neat diagram. Write the expression for cyclotron frequency.

URATY] ¥ Bl R FHS | URHTY AT fadeT qur e
Ao # iR 9aTd | 5
Explain the constitution of atomic nucleus. Write difference
between nuclear fission and nuclear fusion.

IR FTRT B &TRar & ol ot UTed o | 5

Derive the expression for the capacity of a cylindrical capacitor.
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